百师道教育

单位换算练习题

	3厘米=(    )毫米
	6厘米=(    )毫米
	5000米+7000米=(    )千米

	8厘米=(    )毫米
	90毫米=(    )厘米
	7千米-3000米=(      )米

	20毫米=(    )厘米
	40毫米=(    )厘米
	1千米-600米=(     )米

	4厘米=(    )毫米  
	170毫米=(   )厘米
	2千米+1200米=(     )米

	7000米=(   )千米
	3厘米=(    )分米
	1分米-2厘米=(    ) 厘米

	600毫米=(    ) 分米
	15米=(    ) 分米
	20米-15米=(    )米

	8厘米=(    ) 分米
	40毫米=(    ) 厘米
	2千米-800米=(     )米

	1厘米=（   ）毫米
	1分米=（   ）厘米
	100厘米=（   ）分米=（  ）米

	1米=（   ）分米
	80分米=（   ）米
	400厘米=（   ）分米=（  ）米

	60厘米=（   ）分米
	2分米=（   ）厘米
	1米- 4分米=（   ）分米

	9米=（   ）分米
	10厘米=（   ）分米
	120米- 28米（   ）米

	600厘米=（   ）米
	2分米=（   ）厘米
	1米- 4分米=（   ）分米

	9米=（   ）分米
	10厘米=（   ）分米
	120米- 28米=（   ）米

	600厘米=（   ）米
	6米=（   ）分米
	35分米- 25分米=（   ）分米

	3分米=（   ）厘米     
	10米=（   ）分米
	1分米5厘米=（   ）厘米

	12米=（    ）厘米
	2400厘米=（   ）米
	7米-2米=（   ）米=（   ）分米

	7分米=（   ）厘米
	500厘米=（   ）分米
	13厘米+17厘米=（   ）分米

	40分米=（   ）厘米
	3米=（    ）分米
	6分米+44分米=（   ）米

	80厘米=（   ）分米
	2米=（   ）厘米
	24米-4米=（   ）米

	100厘米=（    ）米
	2分米=（   ）厘米
	2米=（   ）厘米=（   ）毫米

	4厘米=（   ）毫米
	8分米=（   ）厘米     
	15分米+85分米=（   ）米

	5米=（   ）分米
	40厘米=（   ）分米
	6米=（   ）分米=（   ）厘米

	60分米=（   ）米
	5米=（   ）分米
	1米-2分米=（   ）分米

	7分米=（   ）厘米
	7分米=（   ）厘米
	46厘米-16厘米=（   ）分米

	200分米=（    ）米
	3米=（   ）厘米
	3米+12米=（   ）分米

	7分米=（   ）厘米
	5分米=（   ）毫米
	17厘米+23厘米=（   ）分米

	100毫米=（   ）厘米
	600分米=（    ）米
	25分米-10分米=（   ）分米

	90分米=（   ）米
	30厘米=（   ）毫米
	71分米+29分米=（   ）米

	80分米=（    ）米
	1分米=（   ）厘米
	20米=（   ）分米=（   ）厘米

	300厘米=（   ）米
	25分米=（   ）厘米
	2300米-300米=（   ）千米

	60分米=（   ）厘米
	800厘米=（   ）米
	28千米+42千米=（   ）千米

	600毫米=（   ）厘米
	50分米=（    ）米
	84厘米+16厘米=（   ）米

	40米=（   ）分米
	150毫米=（   ）厘米
	58分米-8分米=（   ）分米

	90分米=（    ）米
	7厘米=（   ）毫米
	2千米+14千米=（   ）千米

	10毫米=（   ）厘米
	40分米=（   ）厘米
	23分米+47分米=（   ）分米

	11米=（   ）分米
	20厘米=（   ）毫米
	700米+1300米=（   ）千米

	90厘米=（   ）分米
	60毫米=（   ）厘米
	4200米-200米=（   ）千米

	1千米=（   ）米
	2000米=（   ）千米
	1米- 2分米=（   ）分米

	30分米=（   ）米
	8分米=（   ）厘米
	450厘米+50厘米=（   ）厘米

	6米=（   ）分米
	300厘米=（   ）米
	3千米+17千米=（   ）千米

	80毫米=（   ）厘米
	9000米=（   ）千米
	1米-30厘米=（   ）厘米

	10分米=（   ）米
	20米=（   ）分米
	21米-7米=（   ）米

	4000米=（   ）千米
	9分米=（   ）毫米
	1米- 3分米=（   ）分米

	5千米=（   ）米
	400分米=（   ）米
	1米=（   ）分米=（   ）厘米

	600厘米=（   ）分米
	13分米=（   ）毫米
	1米+9分米=（   ）分米

	3米=（    ）厘米
	6米=（    ）毫米
	1千米-300米=（   ）米

	15分米=（   ）毫米
	7厘米=（   ）毫米
	1300米+700米=（   ）千米

	2米=（    ）厘米
	10分米=（   ）米
	1米-9分米=（   ）分米

	8000米=（   ）千米
	15分米=(     )毫米
	1米-2分米=（   ）分米

	40厘米=(     )分米
	3米=(    )厘米
	2厘米+8毫米=（   ）毫米

	7000米=(    )千米
	3000米=(    )千米
	14厘米+26厘米=(   )厘米=(    )分米

	800分米=(   )米
	5千米=(    )米
	1厘米+2毫米=（   ）毫米

	5厘米=(    )毫米
	8米=(   )分米
	8厘米+12厘米=(    )厘米=(    )分米

	30厘米=(   )分米
	50分米=(   )米
	23毫米+17毫米=(    )毫米=(    )厘米

	10厘米=(    ) 分米
	2米=(    )厘米
	49厘米-39厘米=(    )厘米=(    )分米

	10毫米=(    )厘米
	100厘米=(   )米
	85毫米-45毫米=(    )毫米=(    )厘米

	90毫米=(    )厘米
	9千米=(    )米
	17分米+13分米=(   )分米=(    )米

	1000千米=(    )米
	4米=(    )厘米
	5000米-2千米=(      )米

	8000米=(    )千米
	30分米==(   )米
	3000米+2千米=(      )千米

	500厘米=(   )米
	7千米=(    )米
	63毫米-23毫米=（   ）厘米

	3千米=(    )米
	4米=(    )分米
	8分米+15分米=(    )分米

	9米=(    )分米
	70分米=(    )米
	25厘米+35厘米=(    )分米

	1米=(    )分米
	1米=(    ) 厘米
	1米-70厘米=(    )厘米

	900厘米=(   )米
	80分米=(    )米
	1米+30厘米=(    )厘米

	30分米=(    )米
	5分米=(    )厘米
	35厘米-30厘米=(    ) 毫米

	7分米=(    )厘米
	2分米=(    )厘米
	2000米+1千米=(      )米

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	



